

# San Leon Municipal Utility District Manhole Rehabilitation and Replacement CDBG-MIT Project

SAN LEON MUNICIPAL UTILITY DISTRICT 443 24TH STREET SAN LEON, TEXAS 77539 281-339-1586 FAX: 281-339-1587 EMAIL ADDRESS: slmud1@slmud.org

WEB PAGE: www.slmud.org

#### **Risk Description**

On August 30, 2019, the US Department of Housing and Urban Development (HUD) published a Federal Register Notice that provides guidance for the new mitigation component of the CDBG disaster recovery program. This component, identified as CDBG-MIT, represents the first allocation solely for the purposes of mitigating the impact of future disasters funds to grantees. HUD has allocated \$6.875B in CDBG-MIT funds to 14 grantees recovering from qualifying 2015, 2016 and 2017 disasters. The State of Texas has been allocated 4.2 Billion dollars to address mitigation needs. Galveston County was listed as a HUD "Most Impacted and Distressed County" (MID). This designation allows entities to apply for federal funds to mitigate future events.

San Leon Municipal Utility District (MUD) is a coastal community south of Houston near the Gulf of Mexico. The District is subject to extreme weather events such as hurricanes and tropical storms due to its proximity to the coast. In recent history, Hurricanes Ike and Harvey and Tropical Storm Beta have caused damage to the community from wind and rain as well as posed operational challenges as a result of inflow & infiltration (I&I) in the wastewater infrastructure.

The District encompasses a five square mile area, servicing an estimated population of over 11,000. Close to 50 miles of sewer pipe collects wastewater on the peninsula, relaying it through six wastewater lift stations to the sole wastewater treatment plant. are owned and operated by the District. During heavy rain events and during storm surge situations (especially those experienced as a result of tropical storms or hurricanes), an excessive amount of I&I in the wastewater collection system results in significant increased flow at our treatment plant, sometimes as much as triple our permitted capacity. This increased flow can lead to sanitary sewer overflows (SSOs) that negatively influence surrounding lands and bodies of water.

While our operators are capable of responding to the increased demand and tirelessly work to ensure our treatment processes continue to meet the required standards, the increased flows recently resulted in a mandatory plant expansion costing the District millions in bond funds. This expansion, expected to be complete in early 2022, will ease the strain on our system at the final processing point, but the condition of the 50 miles of pipe infrastructure remains a significant concern. A 2017 bond issue earmarked close to \$1.5 million in funds for projects related to infrastructure rehabilitation. While a substantial number of repairs were completed under that round of funding, only a slight decrease in I&I was identified based on the flow at the treatment plant.

## **Project**

The purpose of this project is to mitigate potential flood damages during a storm event throughout the San Leon MUD's wastewater collection system. Nearly 400 manholes exist in the District's infrastructure, with the majority being comprised of fiberglass while some are old enough they are composed of brick.

The scope of this project will include inspection of each manhole with rehabilitation or replacement where needed to address the I&I influencing our collection system.

The six lift stations have already been equipped with natural gas generators to maintain operations during emergency situations, with future system improvements scheduled to upgrade the pumps to submersibles as well as install an additional lift station with natural gas generator to open up that portion of San Leon for development.

# **Project Beneficiaries**

GEOID	geoname	Lowmod 💌	Lowmoduniv	Lowmod_pct
15000US481677218001	Block Group 1, Census Tract 7218, Galveston County,	645	1305	49.43%
15000US481677218002	Block Group 2, Census Tract 7218, Galveston County,	1180	1655	71.30%
15000US481677218003	Block Group 3, Census Tract 7218, Galveston County,	425	1030	41.26%
15000US481677218004	Block Group 4, Census Tract 7218, Galveston County,	465	525	88.57%
		2715	4515	60%

## CDBG-IVIIT. Buuget Justincation of Ketan Costs

cation Controls must be in place to assure that construction costs are reasonable and consistent with market costs at the time and place of construction.

Applicant/Subrecipient:		San Leon MUD								
Site/Activity Title:										
Eligible Activity:	Reł	nabilitation ar	nd replacen	nent of man	hole	es				
Materials/Facilities/Services		\$/Unit	Unit	Quantity	Construction		Total			
Installation of new/replacement 4-ft dia. manholes less than or equal to 10-ft in depth, including removal of existing manhole	\$	3,800.00	EA	300	\$	1,140,000.00	\$	1,140,000.00		
Installation of new/replacement 4-ft dia. Manholes, from 10 to 15 ft depth, including removal of existing manhole	\$	6,000.00	EA	200	\$	1,200,000.00	\$	1,200,000.00		
Installation of new/replacement 4-ft dia. Manholes, from 15 to 20 ft depth, including removal of existing manhole	\$	10,000.00	EA	100	\$	1,000,000.00	\$	1,000,000.00		
Replacement of existing manhole lids with watertight CAP lids	\$	475.00	EA	500		237,500.00	\$	237,500.00		
Bypass pumping	\$	1.00	EA	10000	_	10,000.00	\$	10,000.00		
Well pointing	\$	60.00	LF	4500	_	270,000.00	\$	270,000.00		
Engineering	\$	1.00	EA	578625	_	578,625.00	\$	578,625.00		
Grant Administration		1.00	EA	231450		231,450.00	\$	231,450.00		
Mobilization		1.00	EA	30000	_	30,000.00	\$	30,000.00		
Bonds Insurance Permits		1.00	EA	20000	\$	20,000.00	\$	20,000.00		
	\$	-		0	_	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	_	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	_	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	\$	-	\$	-		
	\$	-		0	Ė	-	\$	-		
TOTAL	\$	20,340.00			\$	4,717,575.00	\$	4,717,575.00		

# San Leon MUD Manhole Rehabilitation and Replacement CDBG-MIT Project



